
SAP ABAP table JBTKREG {Costing Rule}

JBTKREG

MANDT [CLNT (3)]

RKALRG [CHAR (8)]

BSTRA [CHAR (3)]

RKURSA [CHAR (2)]

RKURST [CHAR (4)]

RKURSG [CHAR (4)]

RKURSB [CHAR (4)]

SZKART [NUMC (4)]

SZKAT1 [NUMC (4)]

SZKAT2 [NUMC (4)]

RUKRST [CHAR (4)]

RVOLAG [CHAR (3)]

RVOLAB [CHAR (3)]

RHANDPL [CHAR (10)]

ATVO1

MANDT [CLNT (3)]

VOLART [CHAR (3)]

 JBTKREG-RVOLAB = ATVO1-VOLART 

0..N

0..N

 JBTKREG-RVOLAG = ATVO1-VOLART 0..N

0..N JBD14

MANDT [CLNT (3)]

SZKART [NUMC (4)]

WWAER [CUKY (5)]

 JBTKREG-SZKART = JBD14-SZKART 

0..N

1
 JBTKREG-SZKAT1 = JBD14-SZKART 

0..N

1
 JBTKREG-SZKAT2 = JBD14-SZKART 0..N

1

T000

MANDT [CLNT (3)]
 JBTKREG-MANDT = T000-MANDT 

0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 JBTKREG-RKURSB = TCURV-KURST 

0..N

0..N

 JBTKREG-RKURSG = TCURV-KURST 

0..N

0..N

 JBTKREG-RKURST = TCURV-KURST 0..N
1

 JBTKREG-RUKRST = TCURV-KURST 
0..N{0,1}

TKEVAS

MANDT [CLNT (3)]

BSTRA [CHAR (3)]

 JBTKREG-BSTRA = TKEVAS-BSTRA 

0..N

{0,1}

TW56

MANDT [CLNT (3)]

SKURSART [CHAR (2)]

 JBTKREG-RKURSA = TW56-SKURSART 

0..N

1

TWH01

MANDT [CLNT (3)]

RHANDPL [CHAR (10)]

 JBTKREG-RHANDPL = TWH01-RHANDPL 

0..N

{0,1}


